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One mark Questions :
1. Evaluate [image: image2.png]Lim
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 (1

2. Evaluate [image: image8.png]


 ={ a, b, c, d, e, f, g, h}  A= {b, e, f}  B= {a, g } show that B―A = B∩A1
3. Find the derivative of [image: image10.png]B
ki



 with respect to [image: image12.png]



4. If [image: image14.png](3+41i)



 [image: image16.png](x +iy)



 = 1 + 0i, find [image: image18.png]


 and [image: image20.png]



5. Show that the statement “ If [image: image22.png]


is a real number such that  [image: image24.png]x3+ 4x=0



 , then [image: image26.png]


 is 0’’ is true by direct  method.
6. Given P(A) = [image: image28.png]


 and P(B) = [image: image30.png]


 find P(A or B) if A and B are mutually exclusive.

7. Find the sum of 2 + 5 + 8+… +47

8. Solve for [image: image32.png]


 5[image: image34.png]x—3< 3x+1



 when [image: image36.png]


 is an integer.
9. Let A = { 1, 2 } and B = { 3, 4 } . Write A X B. How many subsets will A X B have ? list them.

10. Evaluate [image: image38.png]Lim



  [image: image40.png]1-cosx




           [image: image42.png]


 (0

4 mark Questions :

11. Verify by the method of contradiction the statement p:[image: image44.png]V2



  is an irrational number.
12. Draw the graph of  f([image: image46.png]


) = [image: image48.png]|x— 2|+ |x — 3]




13. Let f = { (1,1) (2,3) ( 0, [image: image50.png]


 ) ([image: image52.png]


 ) } be a function from Z to Z defined by [image: image54.png]f(x) =ax+b



  for some integers  a and b. Find a, b
14. Show that the middle term in the expansion of [image: image56.png](1+x)



2n  is  [image: image58.png]13.5. ..n(vmfl) 2n xn




15. Solve for [image: image60.png]x = sin2x — sin4x + sinéx =0




16. Solve graphically :[image: image62.png]3y—2x <4,x+3y >3,x+y =25y<4




17. If [image: image64.png]


 , prove that [image: image66.png](x* + ¥%)



2 = [image: image68.png]


 
18. Find the derivative of [image: image70.png]cos(x—g)



 with respect to [image: image72.png]


 from first principle.
19. Prove that [image: image74.png]cos 10



0 [image: image76.png]cos 30



0   [image: image78.png]cos 50



0 [image: image80.png]cos 70



0 = [image: image82.png]16




20. Find the eqn of st.line which passes through (3,4) and the sum of whose intercepts on the coordinate axes is 14.

6 mark Questions :
21. Calculate the mean and standard deviation for the following data :
	C.I
	0-10
	10-20
	20-30
	30-40
	40-50

	f
	14
	13
	27
	21
	15


22. If three consecutive coefficients in the expansion of [image: image84.png](1+x)



n are in the ratio 6 : 33 : 110find n.
23. Find the coefficient of [image: image86.png]


 in the expansion of the product
 [image: image88.png](1+2x)



6 [image: image90.png](1-x)



7
24. Write the complex number Z = [image: image92.png]


  in polar form.
25. Find mean deviational about median for the following data.
	C.I
	16-20
	21-25
	26-30
	31-35
	36-40
	41-45
	46-50

	f
	9
	7
	12
	15
	27
	12
	18


26. If  [image: image94.png]


 are two distinct roots of the equation [image: image96.png]acos@ +bsinf=c



,then shows that
 [image: image98.png]2ab
s

tan(x +8) =
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 [image: image102.png]2ab
a2 + b2

sin(c +8) =




27. Prove  by principle of mathematical induction : 
[image: image104.png]25



 + [image: image106.png]5.8



 + …. + [image: image108.png]1
Bn-1(3n+2)



 = [image: image110.png]P



 

28. (i) A five digit number is formed by the digits 1,2,3,4,5 without repetition. Find the probability that the number formed is divisible by 4.
(ii) Three groups of children containing 3 girls and one boy; 2 girls and 2 boys, one girl & 3 boys . One child is selected at one from each group. Show that the chance that the three and selected consist of 1 girl and 2 boys is[image: image112.png]52




29. Two lines passing through the point (2, 3) intersect each other at an angle of 600. If slope of one line is 2. Find the equation of other line.

30. (i) Find the sum to n terms of the series [image: image114.png]2.3 + 5.4% +8.5% +-





(ii) Using section formula, 

Show that the points ( 1, 2, 3) ( [image: image116.png]


 and (3,5,7) are collinear.
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